FEE

DELELEREICS

ax Py,

121300

121427

i ==

g AT 1,400z Fr i E =1 6,6157
269.08n/81.393% 212.62n1/64.313%F =
tE| e g matE

k= Eith

(| #R st @ s34 Gl

70/400 B/

#/4.2m

EIE:ES EE

HE EE

AR S

fron] Fon]

AREA BB HERRA7EEHhA: 1,407,528 FEHE
i} F5F32:0.83%

121299

aH(E

EHEET  #i=

1LDK

7R—hk

o/

¥/4.7

LDK/19.5

158

>

3,000H

158
TAHHT7,000M(8)24 B3
B

R TE= 28/ 544 |

8-375H

THAF—ZXBEDEL 2 NEFET/N— TUVEVS
DIE% EFRAITY

S
55

ﬁﬁ%%ﬂ%%ﬁ ) 548365

i LAT

PART,
QQ,» 3

T901-2113 HBEMATATF1-34-6 TEL:098-875-2353 =Z%kE:9:00~18:00 ERH:HEHR i

— FSun




